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A-B = ABcos#@

A'B
0 = cos_l(

W) 0°=6 < 180° A ‘B = 0,6 = cos”' 0 = 90°




9&% Ell‘] ,'{—I_'\@:l @) #37 M5 1%

EA TR
NEFEFNEESERFEZENAE,. HEZIE
NERF%& LIy, maBEXENSTR.

i*i= (1)(1)cos0° = 1 i*j = (1)(1)cos90° = 0.
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A-B=(Ai+A,j+ Ak :(Bi+ B,j+ Bk)
= AB(i-i) + AB(i-j) + AB.Gi-k)

+ AB(j-i) + (AB(j-j) + AB(j*k

+ AB(k-i) + AB(k-j) + AB(k-k)

A-B = AB, + AB, + AB,
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A-B = ABcos#@
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_ F=100N
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(F.)proj = (100 N)cos 45° = 70.7N
(Fp)oroi = (100 N)cos 15° = 96.6 N

proj
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C=A X B = (ABsin fu,
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AXB=(Adi+Aj+AKk) X (Bi+ B,j+ Bk)
=AB(i Xi) + AB/(i X j) + AB.(i X k)
+ AB(j X i) + AB( X j) + AB.(j X k)
+ AB(k X i) + AB(k X j) + AB(k X k)

AXB =(AB,—AB)i—(AB,—AB)j+ (AB, — AB)k
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a(A X B) = (aA) X B=A X (aB) = (A X B)a
AXB+D =(AXB)+(AXD)
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